(RN
<

a(6 @) (rad)
a(d cot(B))

=
2
N

1072

P I X A N A
P : : : : : o
T Eoooe... : ELALL 2l o LR - - - PR T
a4 llE 4 : : o 19F-------r-b - W0E-H- - EHEE R - -1 -
1;—- bans| "-“, 127 R I S | S || 3 0 (v 0 S .
0.92— ; i1 : :
083 -1 0 1 2 3 I 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

e
New ste gttbar hasel -new

BOMoTIgINa _Step2_tthar] Ildbb‘ new TOTT
B ] IXe|CPETEm e s e 2 b asel-n
B o

D |

xe|CPETem
I“pixe|CPETem uareNew st ttB R asel-newgeom
xelCPETem a uareNew —Step2_tt B sel-new 8eom
~ 1 — —
IS IS
o o
= =
—~ —~
< -
o e
9 —
S [s]

107}

10%"

o RS L :

= F = :

© [oeennn | SR ) 4 T [ :

x 1: : m.f i & | S L TEL L
0.8F------ R O 1 R {3 11 [ 1

0.6F------ =t

L 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

01072

Ratio

oot il SRR 1
C H Tf i H FANIA H

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


